Pre-Calculus Chapter#1 Review 6. Simplify (2;2 +x- 5X3x - 4)
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1. Find the indicated set if ) &2,
A={3,4,5,6,7,8,9} |
B={4, 6, 8, 10}
c={8, 9, 10, 11} 7. Factor x> —6x+5
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: ‘ ] 11. Find all real solutions to the equation.
4. Evaluate (}_22] / : 9 - £ | x*—9x" +18x=0

5. Evaluate (9366)/8)z = J¢ I ayley® ) ;
‘ 12. Solve by completing the square
x> +4x-12=0



13. Solve the quadratic equation
—S5x=x>— ;2 o
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15. Simplify
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17. Find all real solutions of the equation
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18. Solve the inequality. Express the solution
as an interval and graph.
—-1<2x-5<7
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13. Solve the quadratic equation

~5x=x*~9

14. Simplify X +7x alsls
x* +8x+15
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16. Simplify

17. Find ail real solutions of the equation
2x+5]-3<13

18. Solve the inequality. Express the solution
as an interval and graph.
~-1<2x-5<7

19. Write the domain of the given function as a

interval and as a graph.
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20. Find the slope of (-3, 2) and (4, 5)
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21. Write an equation of a line that goes

through the points (-1, -2) and (4,3)
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21. Write an equation of a line in slope 24. Graphy —/’/= %+l o
intercept form that goes through the point N J;‘ T2 \j : X+'§
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22. Write an equation of a line that-goes 2
through the point (-3,2) and is
peLpendiculzf\:}? 4x+8y =7 5-‘{3("&'7
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23. Graph2x—3y =6

25. Write an equation of a line in point-slope
form that passes through the point (4, -1)
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